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Attempt five questions n all.
All questions carry equal marks.
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Explain the law of demand. Why does the
taw of demand operate 7

If two straight line demand curves intersect
each other, which of them will have higher
elasticity of demand at the pomnt of

intersection ?
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What is meant by an indifference curve 7
Explain why it is generally convex to the
origin.

Show that, Price FEftect - Substitution
Effect + Tncome Efect. tor normal good
with the help of  indifference  curve
technigue.
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Distinguish between Returns to a variable
factor and Returns to Scale.

With the help of Isoquant analysis explain
how a f{im attains least-cost input

combination.
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Discuss whether it is possible for a
perfectly competitive firm to operate with

losses in short-run.
Explain why monopoly is allocatively
inefficient.
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How does tcchnical progress affect
equilibrium of a fiom and of the perfectly
competitive industry in which it operates ?
Analyse the causes of the success and fali
of OPEC.
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(1) Lxplain the term economic rent according
. . 1
to Modem Theory of Rent. 75
(b How are factor prices determined in a4
.. 1
compeiitive market 7 I
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(a)  Why the protection of industries considered
C . ' i
crucial in a developing country ? 73
{b) Fxplain the various circumstances under
which market f{ails to allocate resources
efficiently. 7%
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Write short notes on any twe of the follow:ng :
¢a) The Law of [ncreasing Opportunity Costs.
h)  Price Contro! und Black Marketing
{c} Nature of demand curve under oligopoly.
(d) Comparative Cost Advantage of
International trade. ?% + 7%
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